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2. EHAESSEENSEARESESHREMYE (11 VCE)  BEME—MEAE SR (B) 10uL+130pL 33 = +60uL £ H =,
B R 30min, S10nm EEUEAAE A) , MEEREMEE, RATEARITE.
. ERITE:
1, BEARETE:
Hil (umol/g TE)=(C FRAXV2X(A NE-A Z=H)HA FRAE-A EE)HWxVI=V)xD
=4x(A ME-A DE)HA FRE-A BH) +WxD
Hl (ng/g TE8)=(C FREXV2)X(A JUE-A 2 E)(A FRfE-A 22E)=(WxV1=V)xD
=368.36x(A ME-A BEH)+(A tRE-A ZH) +WxD
2, R EEITE:
H3M (pmol/10%cell) =(C FREXV2)x(A ME-A TE)A FRE-A = H)(500xV1+V)xD
=4x(A ME-A FH)HA #R4-A FH)+500xD
Hil (ng/10* cel)=(C FRAEXV2)X(A JTE-A = E)+(A FRA-A ZH)(500xV1+V) xD
=368.36%(A E-A = H)+(A FRHE-A ZFH)+500xD
3. AR HEHREEITE:
3l (mmol/L)=(C FRfExV2)<(A UE-A ZH)(A FfE-A ZE)=VIXD
=4x(A JE-A ZE)(A trfE-A 2H)*D
Hil (pg/mL)=(C FRAEXV2)x(A ME-A BH)HA FRE-A FH)VIXD
=368.36x(A JE-A Z2E) A FrAE-A ZE)*D

C $rAE---4mmol/L=4pumol/mL=368.36pug/mL; V---12BUR TR, ImL;

VI---FEARMANEF, 0.0ImL; V2---FRAERMAAEFR, 0.0lmL;
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